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CHEA vs. BICHEH

On the Internet, Nobody knows you 're a dog

cartoonlink.com. All rights reserved.

© The New Yorker Collection 1993 Peter Steiner from

“On the Internet, nobody knows you're a dog.”
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Y=g",Z=cC

log,Y =log, Z

Prover Verifier
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Y=9¢",Z=c" 7°=1711=5
log,Y =log. Z log,17 =log,,5

Prover Verifier

t=3
R=9g'modp=7°=21 R =21,R, =20 Commitment

R,=c'mod p=11° =20 u=06

u==6 Challenge 7 o
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“* Non-interactive Zero-knowledge (NIZK) proofs using Fiat-
Shamir Heuristic

=log, Y mod p, (Y =g* mod p)

Prover Verifier

teg Z;

R=g"mod p RW) u=H(,R)
u=H(Y,R) R—g"Y" mod p

w=t—-uxmodq
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